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All questions are compulsory.

The question paper consists of 29 questions divided into four sections A, B,
C and D. Section A comprises of 4 questions of one mark each, Section B
comprises of 8 questions of two marks each, Section C comprises of
11 questions of four marks each and Section D comprises of 6 questions

of six marks each.

All questions in Section A are to be answered in one word, one sentence or

as per the exact requirement of the question.

There is no overall choice. However, internal choice has been provided in
3 questions of four marks each and 3 questions of six marks each. You

have to attempt only one of the alternatives in all such questions.

Use of calculators is not permitted. You may ask for logarithmic tables, if

required.



Qs A

SECTION A

G GEIT ] G4 T Jedb J97 1 3h H1 & |

Question numbers 1 to 4 carry 1 mark each.

8 0
1. fc forefl 2 x 2 a1 3= A % TIT, Aadj A) = ]%,?ﬁ|A|Wﬂ1¢r
0 8
R |
8 0

If for any 2 x 2 square matrix A, A(adj A) =
0 8

} , then write the value

of |A].

2. K 1 9H 74 Hifu e fou Fefafed wod x =3 Waaa 2

(x +3)2 - 36

, #3
f(X)= X_3 %

k

, x=3

Determine the value of ‘k’ for which the following function is continuous

atx=3:

(x+3)2 -36
fix) = X -3

k
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El'l_dﬁﬁfq:

sin2 X — cos2 X
- dx
sin X €os X

Find :

sin2 X — cos2 X
dx

sin X €os X

Al 2x —y + 2z =5 QAT 5x — 2-5y + 5z = 20 & o= ! gl J1d HIWT |

Find the distance between the planes 2x —y + 2z = 5 and
5x — 2-5y + 5z = 20.

@ us o
SECTION B

T3 &5 T 12 7% J9% 94 & 2 376 5 |

Question numbers 5 to 12 carry 2 marks each.

65/1

Ifg AIfC 3 1 T TauH-aHHG TR 7, a1 g HIVT 76 det A = 0.

If A is a skew-symmetric matrix of order 3, then prove that det A = 0.

T f(x) = x5 — 3%, [=+/3, 0] = fT¢ UA & THI o TIT © ¢ hl A F1d
S |

Find the value of ¢ in Rolle’s theorem for the function f(x) = x% — 3x in

[-/3, 0.

Teh ¥ 1 AR 9 o THfi/d. 1 W W 9¢ WM 8 | 9 o4 sl Y1 10 4 7,
35k JEIT §Fhel | Sgiadl hl g 1 IV |

The volume of a cube is increasing at the rate of 9 cm®/s. How fast is its

surface area increasing when the length of an edge is 10 cm ?

4



8.  TIMEU foh ®eid f(x) = x° — 3x2 + 6x — 100, R W I&AH 2 |
Show that the function f(x) = x5 — 3x2 + 6x — 100 is increasing on R.

9. Tgall P2, 2, 1) @M Q(5, 1, — 2) HI A dmet W@ | T & &g &1
x-Sk 4 8 | 3T z-FEwmeh 31a il |

The x-coordinate of a point on the line joining the points P(2, 2, 1) and
Q(5, 1, — 2) is 4. Find its z-coordinate.

10. U UTEl, o ®ofshl W 3Tk 1,2, 3 A@ W H f@ g dam 4,5, 6 /L W H
forg 8, <l 3BT T | HET 9T A ® : “UTtd H%IT @9 8 997 " B R
“ared FEAT A 7 | AT BT foh R A dU1 B Tad HeAT | |
A die, whose faces are marked 1, 2, 3 in red and 4, 5, 6 in green, is tossed.

Let A be the event “number obtained is even” and B be the event
“number obtained is red”. Find if A and B are independent events.

11. @ TS, A 991 B, Ufdfed shAS: T 300 T T 400 A &8 | A Ush fed 4
6 I T 4 U et gehar & Si&fes B ufafed 10 =i aom 4 8 faa gehan
2 | 98 I % & e f -89 60 =St qen 82 9 fe & forw a3
forae fo7 & w5 9\ @FG H9-8-H9 7, iRgs TUmT gue & &9 A
TG T |

Two tailors, A and B, earn ¥ 300 and ¥ 400 per day respectively. A can

stitch 6 shirts and 4 pairs of trousers while B can stitch 10 shirts and
4 pairs of trousers per day. To find how many days should each of them
work and if it is desired to produce at least 60 shirts and 32 pairs of
trousers at a minimum labour cost, formulate this as an LPP.

12. J1d iU :

dx
5—8x—x2

Find :
dx
5-8x — X2
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SECTION C

J97 G&IT 13 T 23 TF Jodb Jo1 & 4 3F & /

Question numbers 13 to 23 carry 4 marks each.

13. 4R tan 1 X792 4 tanl X+3 _ g%,?ﬁanﬂaﬁrﬁﬁn |

x—4 Xx+4

If tan ! 2= 3 + tan 1 X +3 = E, then find the value of x.

x—4 x+4

14. QR % Turemt 1 gEm e, fag A fh

aZ+2% 2a+1 1

2a +1 a+2 1 =(a—1)3

3 3 1
YT
IR A T@ hifT TR
2 -1 -1 -8

1 OlA=]1 -2
-3 4 9 22

Using properties of determinants, prove that

aZ+9% 2a+1 1

20+1 a+2 1| =@-13

3 3 1
OR

65/1 6



15.

16.

17.

65/1

Find matrix A such that

2 -1 -1 -8
1 OlA=]1 -2
-3 4 9 22

M Teyi=ab B, % T HifrT |

AT

2
e =1 8w s O3 - (D)

d

dx dx

If x¥ +y*=aP, then find d_y
dx

OR

d2y dy 2
If eY(x+1) =1, then show that —2 = (—j .
dxz dX

El'l'd@ﬁﬂ'{:

cos 0 40
(4 + sin? 0) (5 4 cos2 0)

Find :

cos 0 40
(4 + sin? 0) (5 — 4 cos2 0)

A F1d hiT

T
t
X tan x dx
secxX + tan x
0
3UAT

P.T.O.



18.

19.

20.
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A 19 i

4

I {|X—1|+|X—2|+|x—4|}dx

1

Evaluate :

T
X tan x dx
sec X + tan x
0
OR

Evaluate :
4

I {|x-1|+|x=2|+|x—4]|}dx

1

TR THHT (tan L x — y) dx = (1 + x2) dy ! BA I |

Solve the differential equation (tan~lx — y)dx =(1+ x%) dy.

A

Zutse f6 fig A, B, C e feufa afew w21 - § + k, i -3 - 5k
qu 31 —4) —4k E, Th THEO HHS F 0 F | o1 By F dFed I
hITTT, |

A AN
Show that the points A, B, C with position vectors 2/i\ -j+k,
/i\ —33'\ —5/1\{ and 3/1\ - 43'\ —4/1\1 respectively, are the vertices of a

right-angled triangle. Hence find the area of the triangle.
¢ AN A AN
AT WH TG hiTe dfer =R foig ek feufa |fesr 31 +65 + 9k,
AN AN A AN AN AN AN AN ZAN .
i+2j +3k, 21 +3]j +k T 4i +6j + 1k THAAT B |
A
Find the value of A, if four points with position vectors 3/1\ + 63\ + 9k,

AN N A A A AN A
1+2) +3k, 21 +3j + k and 41 +6j + Ak are coplanar.
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21.

22.

23.

65/1

4 e & o9 W I=AT 1, 3, 5 91 7 3ifhd B, Tsh e W Teh &7 | T SIS
e T fopy fom argesan fset MU | A X e e @ wel W ot
AT T ANHA 2 | X T AT qAT TEOT [T hIT |

There are 4 cards numbered 1, 3, 5 and 7, one number on one card. Two
cards are drawn at random without replacement. Let X denote the sum of
the numbers on the two drawn cards. Find the mean and variance of X.

we foener & fomnfda o fow wma 8 £ 309 foenf¥fi € 1009% sufeufa 2
A 70% Torneff G § | fUSe av o 9o gf=a wd & o 37 @t
Tforenfeln, foeht Sufeafa 1009 8, § & 70% 3 oS wdien & A U gmm qen
arfafia foenfei @ @ 10% 9 A I8 ™ | 9 & 3@ H, foemem § @ s
foreneff srg=@en g e qen Wg AR TR TR IWe A U o1 | WifehdT w1 B
for 33 foeneff i 100% Iufcafa & 2 w1 Fafiaar saa faeme™ & mavas g 2
319 IR h 9& H Toh aIforg |

Of the students in a school, it is known that 30% have 100% attendance
and 70% students are irregular. Previous year results report that 70% of
all students who have 100% attendance attain A grade and 10% irregular
students attain A grade in their annual examination. At the end of the
year, one student is chosen at random from the school and he was found

to have an A grade. What is the probability that the student has 100%
attendance ? Is regularity required only in school ? Justify your answer.

7 = x + 2y 1 JfeehdHieor shiferg
=1 sratigi < St

X + 2y 2100

2x—-y<0

2x +y <200

x,y=0

ITYh Mgk TTHH THET ol ATe@ hi TERAT § §A HIMT |

Maximise Z =x+ 2y
subject to the constraints
x + 2y 2 100
2x -y <0
2x +y <200
x,y=>0
Solve the above LPP graphically.

9 P.T.O.
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SECTION D

J97 G724 G 29 TF Jcdb J91 & 6 3F & /

Question numbers 24 to 29 carry 6 marks each.

24.

25.

65/1

NEER] I hIfST qAm SHRT T

| 5 -3 -1]]2 1 3 |
Wﬁaﬂ?{x—y+z=4,x—2y—2z=9, 2X+y+32=13ﬁ88$@ﬁ
I |

Determine the product and use it to

5 -3 -1(|12 1 3

solve the system of equations x—y+z=4,x—2y—22=9,2x +y+ 3z = 1.

f:R- {—%}—)R—{%}, I fx) = 4“2 o Ve 2, W fem Hifv |

3x +
23U o £ Tehehl qAT 3=k & | f hl AdAH Hod F1d hIfSl | 37d:
£=1(0) F1a HIFT q x 71 HifSe arfes £1(x) = 2.

HAAT

T A=QxQ dMm x* A W TH fgemgdd dfem 2 O
(a, b) * (¢, d) = (ac, b + ad) gRT IR B, It (2, b), (c,d) € A & T | F@
i fop 1+ HAfaET qam geuil 8 | 99, A T # & Hue

() A¥ dcEH% 79I JTd I |

A % SGHAYIY 31E¥d FTd I |
10
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4

Consider f: R — {— g} —->R- {%} given by f(x) = 4x +3

3x +

. Show that f is

bijective. Find the inverse of f and hence find £71(0) and x such that
fl(x) = 2.
OR

Let A = QX Q and let * be a binary operation on A defined by
(a, b) * (¢, d) = (ac, b + ad) for (a, b), (c, d) € A. Determine, whether : is

commutative and associative. Then, with respect to = on A

1) Find the identity element in A.

(11) Find the invertible elements of A.

26. <TWIST foh T g T4, THH1 SMER SRR | G A a1 T 7, 1 gE™
&bl [TqH BT, ST ¥ T O B |

Show that the surface area of a closed cuboid with square base and given
volume is minimum, when it is a cube.

27. THhAA fafa &y @ 39 Y ABC 1 &A%a 3 <hifre, e sfist @
e A (4, 1), B (6, 6) @21 C (8, 4) & |

HAAAT

T W@ 3x — 2y + 12 = 0 O WaAT 4y = 3x2 o si= R & T &% I
HIT |

Using the method of integration, find the area of the triangle ABC,
coordinates of whose vertices are A (4, 1), B (6, 6) and C (8, 4).

OR

Find the area enclosed between the parabola 4y = 3x2 and the straight
line 3x — 2y + 12 = 0.

28, 37dHhd THIHT (x —y) g—y = (x + 2y) &1 fafsrse g1 1a hifSe, feon won 2 o6
X
y=09dx=1 2|
Find the particular solution of the differential equation

x-y) 3—3’ = (x + 2y), given that y=0 when x = 1.
X

65/1 11 P.T.O.
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29. 39 fog % Hewme Fa e &l fogati (3, — 4, — 5) T (2, - 3, 1) ¥ B

STt @, g3t (1, 2, 3), (4, 2, — 3) AT (0, 4, 3) GRI &+ HHA I Hied! @ |

Jrra

T W GHA, S qA-fag ¥ 3p I IR gl W d 7, Howmh s i
A, B, C W edl 28 | &gy T Y ABC % g &1 foguy
1 1 1 _ 15,

2y 22

p

Find the coordinates of the point where the line through the points
(3, — 4, — 5) and (2, — 3, 1), crosses the plane determined by the points
(1,2, 3),(4,2,—-3) and (0, 4, 3).

OR

A variable plane which remains at a constant distance 3p from the origin

cuts the coordinate axes at A, B, C. Show that the locus of the centroid of
triangle ABC is iz + iz + iz = i2
X y v/ p
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